ZESTAWIENIE DREWNA

SCHEMAT KONSTRUKCJI

] Miecz 1 150 C 24 2 0.05 1;449' g miecz m :II ::g g :: : gg g :‘lgx::g g:uB :: jlg ;gg g g: :II gg; 38:;‘;) Lp. rodzaj profilu nazwa pozycja nr.el | dlugos¢ [em] | klasa | sztuk | objetos¢ [m3] masa [kg] ,
3] Miecz 1 150 C 24 2 0.05 iecz x up . -
5] Miscz 1 150 C 24 Z 011 242 |0 Miecz M 1 150 | C 24 z 234 |0 18x18 Stup St 20 130 C 24 1 0.02 11 21 g 13:12 E:z:':: E: 21 1391 gi: g g'gé __:; WIEZBY DACHOWEJ
3] Miecz 1 150 C 24 2 0.11 243 |0 Miscz M 1 150 | C 24 3 435 | 0 18x18 Stup St 20 130 | C 24 1 0.02 11 o Tods Krokiow = % 2736 24 5 X =
& Miecz 1 150 [ C 24 % 0.1 2440 Miecz M 1 150 | C 24 z 236 | 0 18x18 Stup St 20 130 C 24 1 0.02 K o oas Kok T v, AR > T = SKALA 1 . 1 OO
] Klaszcoze 1 7050 C 24 2 0.38 245 |0 Miscz M 1 150 | C 24 z 437 |0 18x18 Stup St 20 130 | C 24 1 0.02 11 =Ta 10:15 K:zk!:: K:1 5 v AT 5 R 955 .
3] Klaszcze 1 1050 C 24 2 0.38 246 [0 Miecz M 1 150 | C 24 4 438 | O 18x18 Stup St 20 130 | C 24 1 0.02 1 —oois Krokiow <1 < =76 e 24 5 oo Tiss
] Klaszoze 7 1050 | C 24 2 0.38 247 |0 Miscz M 1 150 | C 24 + 4390 18x18 Stup St 20 130 | C 24 1 0.02 1 ~ToioxTs Krokiow P > o0 o4 5 oah 133
O KI 1 1050 C 24 2 0.38 248 |0 Miecz M 1 150 | C 24 4 240 | 0 18x18 Stup St 21 210 | C 24 1 0.04 22 S ToTods Krokiow = a ~ea o o4 : XV =
5] Klaszoze 2 840 C 24 2 0.3 249 |0 Miecz M 1 150 | C 24 z 4410 18x18 Stup St 21 210| C 24 1 0.04 22 ST oaTs Kooy < = 801 c 24 > 024 52
O KI 2 840 C 24 2 0.3 250 |0 Miscz M 1 150 | C 24 z 242 |0 18x18 Stup St 21 210 | C 24 1 0.04 22 ToloTods Krokiow = & =8 o 24 5 557 Ties
5] Klaszoze 3 530 C 24 2 0.19 251]0 Miecz M 1 150 | C 24 z 2430 18x18 Stup St 21 210| C 24 1 0.04 22 O R Kok < = VAN > o7 935
] Klaszoze + 320 C 24 2 0.12 252 |0 Miscz M 1 150 | C 24 z 444 |0 18x18 Stup St 21 210 | C 24 1 0.04 22 AL 10:18 K:zk!:: K:1 " 57516 24 5 014 =
3] Klaszcze 1 1453 ] C 24 2 0.52 253 |0 Miecz M 1 150 | C 24 4 445 | 0 5x15 Miecz M 1 150 | C 24 4 0.11 60.5 S Toos Krokiow <1 3 >73 T 24 5 R =5
] Klaszoze 7 1453 | C 24 2 0.52 254 |0 Miscz M 1 150 | C 24 + 446 | O 5x15 Miecz M 1 150 | C 24 + 0.11 60.5 o ToxTs Krokiow P > AR 5 505 >3
O I 1 1262 C 24 2 0.45 255 |0 Miecz M 1 150 | C 24 4 447 | 0 _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 5 ToTods Krokiow = 3 5o o 24 5 002 1
5] Klaszoze 5 920 C 24 2 0.33 256 |0 Miecz M 1 150 | C 24 z 248 | O _18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 AR Kooy < 5 35T e 24 3 ot 520
O I 6 815| C 24 2 0.29 257 |0 Miscz M 1 150 | C 24 z 449 0_18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 1o Tods Krokiow = 5 AT 3 ot 550
5] Klaszoze 7 920 C 24 2 0.33 258 |0 Miecz M 1 150 | C 24 z 250 | O 18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 e o ooTs Kok < S AT 3 o 520
] Klaszoze 7 710 C 24 2 0.26 259 |0 Miscz M 1 150 | C 24 z 451 0 18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 oD 10:15 K:zk!:: K:1 5 AR 3 ot 550
3] Klaszcze 8 370| C 24 2 0.13 260 |0 Miecz M 1 150 | C 24 4 452 | 0 18x20 Podwaling Pd 16 150 | C 24 1 0.03 16.5 oo Toss Krokiow <1 5 T 24 3 ot 550
] Krokiew nar- 7 1070 | C 24 2 0.39 261]0 Miecz M 1 150 | C 24 + 453 | 0 _18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 ST o o8 Krokiow P 5 AT : 513 =i
3] Krokiew nar. 2 900 | C 24 2 0.32 262 |0 Miecz M 1 150 | C 24 4 454 | 0 _18x20 Podwaling Pd 16 150 | C 24 1 0.03 16.5 5 To 1018 Krokiow = 5 o o4 3 ot 550
5] KroKiow nar- 3 210 C 24 1 0.07 263 |0 Miecz M 1 150 | C 24 z 455 | 0 _18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 5o Tou8 Kok < 5 AT 3 0t 530
3] Krokiew_nar. 4 600] C 24 1 0.11 2640 Miscz M 1 150 | C 24 4 456 | O_18x20 Podwalina Pd 16 150 | C 24 1 0.03 16.5 el Tods Kok < 5 ST o 3 ot 550
5] KroKiow nar- 5 8701 C 24 2 0.31 265 |0 Miecz M 1 150 | C 24 z 457 | 0 18x20 Podwalina Pd 16 150 | C 24 2 0.05 27.5 =T Tosis Kok < S AT 3 o 520
] Krokiew nar. 5 1825 C 24 1 0.33 266 |0 Miscz M 1 150 | C 24 z 458 | O_18x20 Podwalina Pd 16 150 | C 24 2 0.05 275 > To 10:15 K:zk!:: K:1 5 AR 3 ot 550
3] Krokiew_nar. 7 1060 ] C 24 2 0.38 267 |0 Miecz M 1 150 | C 24 4 459 | 0 _18x18 Stup St 7 150 | C 24 3 0.08 44 T Toss Krokiow <1 S T 24 3 ot 550
] Krokiew nar. 7 2701 C 24 2 0.1 266 |0 Miecz M 1 150 | C 24 + 460 | O _18x18 Stup St 10 220 | C 24 1 0.04 22 >0 Toas Krokiow P 5 AT 3 ot 550
3] Krokiew_kosz. 1 1070] C 24 1 0.19 269 [0 Miecz M 1 150 | C 24 4 461| 0 18x18 Stup St 22 110 C 24 1 0.02 1 >oTo 1018 Krokiow = 5 o o4 3 ot 550
5] KroKiow Kooz, 2 895 C 24 1 0.16 270 |0 Miecz M 1 150 | C 24 z 262 |0 18x18 Stup St 22 110] C 24 1 0.02 K AL Kok < 5 AT 3 0t 530
3] Krokiew _kosz. 3 1045 C 24 1 0.19 271]0 Miscz M 1 150 [ C 24 2 463 [0 _18x18 Stup St 22 110 C 24 1 0.02 K STTE i0xTa Kok o 5 AT 3 ot 550
5] Krokiow kosz. 7 295 C 24 1 0.05 272 |0 Miecz M 1 150 | C 24 Z 264 |0 18x18 Stup St 22 110] C 24 1 0.02 K ST Tons Kok < S AT 3 o 520
] Pratew Kalen. 3 150 C 24 1 0.03 273 |0 Miscz M 1 150 | C 24 z 465 | O 5x15 Miecz M 1 150 | C 24 4 0.11 60.5 ssTo 10:15 K:zk!:: K:1 5 AR 3 ot 550
3] Platew_Kalen. P 315| C 24 1 0.06 2740 Miecz M 1 150 | C 24 4 466 | O 5x15 Miecz M 1 150 | C 24 4 0.11 60.5 ST Tonis Krokiow <1 o s6oTc 24 1 012 T3
] Stup 7 170 C 24 1 0.03 275 |0 Miecz M 1 150 | C 24 Z 467 | O _18x20 Podwalina Pd 7 852 | C 24 1 0.15 82.5 s To 708 Krokiow P 11 =0T c 2z 1 K] =5
3] Stup 1 170 C 24 1 0.03 276 |0 Miecz M 1 150 | C 24 4 468 | O _18x20 Platew Pt 6 852 | C 24 1 0.15 82.5 T Toss Krokiow o 2 7T o o4 1 508 vy
5] Stup 7 170 C 24 1 0.03 277 |0 Miecz M 1 150 | C 24 z 469 | 0 _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 o oas Ko < 3 73T e 2d 1 005 585
3] Stup 1 170] C 24 1 0.03 278 |0 Podwalina Pd 3 215 | C 24 1 470 | O _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 =i i0a1s Kok = 2 57416 24 1 005 e
5] Stup 7 170 C 24 1 0.03 279 |0 Miecz M 1 150 | C 24 2 471] 0 18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 SoToToss Kok < s AL 1 003 T6c
] Stup 1 170 C 24 1 0.03 280 |0 Miscz M 1 150 | C 24 2 472 | 0 _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 oo 10:18 K:zk!:: K:1 o e T e 24 1 501 =5
3] Stup 1 170 C 24 1 0.03 281|0 Miecz M 1 150 | C 24 4 473 | 0 18x20 Podwaling Pd 16 150 | C 24 3 0.08 44 T Toss Krokiow <1 6 e T e o4 1 001 =
] Stup 7 190 | C 24 1 0.03 282 |0 Miecz M 1 150 | C 24 Z 474 | 0 _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 <20 Toas Krokiow P = AR 1 0.03 Tes
3] Stup 1 190 C 24 1 0.03 283 [0 Miecz M 1 150 | C 24 2 475 | 0 _18x20 Podwaling Pd 16 150 | C 24 3 0.08 44 = Toioc0a Krokiow = 8 2246 24 1 008 55
5] Stup 7 170 C 24 1 0.03 284 |0 Miecz M 1 150 | C 24 2 476 | O 18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 o ious Kok < 15 TN 1 006 33
0 Stup 1 170 | C 24 1 0.03 477 |0 18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 = To 0018 Kok o 2 286 o4 1 008 vy
o Stub 1 1701 24 1 .03 478 | O _18x20 Podwalina Pd 16 150 | C 24 3 0.08 44 T Toss Kok < o1 =30 C 24 1 X ==
o Stup 1 170 C 24 1 0.03 47010 18x18 Stup st} 23 75 1 C 24 1 0:01 55 470 Toxis Krokiew ki 22 603 | C 24 2 0.22 121
0 Stup 1 1701 ¢C 24 1 0.03 48010 18x18 Stup St} 24 S01C 24 1 0.02 n 480 10x18 Krokiow kil 22 502 [ C 24 1 0.0 %95
o Stup 1 170 C 24 1 0.03 48110 18«18 Stup St 24 S0 1€ 24 1 0.02 1 490 Tox18 Krokiew kri| 23 400 € 24 1 0.07 38.5
] Stup 1 170[C 24 1 0.03 48210 18x18 Stup Sty 22 1101 C 24 1 0.02 n 50 [0 10x18 Krokiew Kri| 24 208 C 24 1 0.05 27.5
o Stup 1 170 C 24 1 0.03 170 100 . 100 1. 100 1. 100 101 1, 101 48310 18x18 Stup St} 25 120 1 C 24 ! 0.02 1! 51]0 1ox18 Krokiew kil 25 196 C 24 1 0.04 22
1] Stup 1 170 | ¢ 24 1 0.03 48410 1818 Stup Sty 26 2401 C 24 1 0.04 22 520 10x18 Krokiew Kri| 26 169 C 24 3 0.09 495
O Stup 1 170 C 24 1 0.03 H 48510 18x18 Stup St} 26 2401 C 24 ! 0.04 22 530 Tox1s Krokiew kel 27 94 C 24 1 0.02 i1
o Stup 1 170 C 24 1 0.03 48610 18x18 Stup st 26 240 1 C 24 1 0.04 22 540 Tox18 Krokiew kri| 28 622 | C 24 1 0.1 605
0 Stup 1 1701 ¢C 24 1 0.03 48710 18x18 Stup st} 27 2701 C 24 1 0.0 27.5 550 10x18 Krokiew k1] 29 519 C 24 1 0.0 49.5
o Stup 1 170 C 24 1 0.03 S 488 10 18«18 Stup St 27 2701 C 24 1 0.05 27.5 56 |0 1ox18 Krokiew kil 30 417]c 24 1 0.08 44
] Stup 1 170|c 24 1 0.03 = s 7 ) 489 1 0 14x18 Krokiew kosz. Krk S 13101 C 24 1 0.24 132 570 10x18 Krokiew Krl 31 314 C 24 1 0.06 33
o Stup 0 1701 c 27 1 0.03 o sons 39 o 290 | 0 14x18 Krokiew_nar. Prn 8 1310 | C 24 1 0.24 132 =5 ToToss Ko < 35 ST e 2a 1 007 >
] Stup 1 170 ¢ 24 1 0.03 0 1820]| Potwans] 6 e 337 40110 12x18 Krokiew Kr2 27 13101 C 24 1 0.24 132 500 10x18 Krokiew Kr1 33 172 C 24 2 0.06 33
o Stup > 230 [ ¢ 24 1 0.04 o Lo 0 one | ooiaw 34 I 292 |0 12x18 Krokiew Kr2 28 300 | C 24 1 0.05 27.5 so T Toss Ko < 3% 551G 24 > X =
o Stup > 2301 24 1 004 e} 2 2 493 |0 12x18 Krokiew Kr2 29 200 | C 24 1 0.04 22 o ToxTs Krokiow P 3 S8 C 24 5 013 T
3] Stup 2 230 | C 24 1 0.04 494 [0 12x18 Krokiew Kr2 30 100 | C 24 1 0.02 1 T Toss Kok KT % oo os 5 o1 a5e
o Stup 2 230 G 24 1 0.04 o 1624 = 495 [0 12x18 Krokiew Kr2 31 895 | C 24 1 0.16 88 X rolcew . : -
. SZT=1 o — 63 |0 10x18 Krokiew Kr1 37 572 | C 24 2 0.21 115.5
] Stup 2 230 C 24 1 0.04 © = — 496 10 12x18 Krokiew kr2 31 8651 C 24 1 0.16 88 640 10x18 Krokiew k1| 38 673 C 24 2 0.24 132
o Stup > 330 C 24 1 0.0% 0 1018 297 |0 12x18 Krokiew Kr2 31 865 | C 24 1 0.16 88 e= T Toss Ko < 38 AT > ook 132
1] Stup 2 230 C 24 1 0.04 T S 498 10 12x18 Krokiew Kr2 31 ge51C 24 1 0.16 88 660 10x18 Krokiew Krl| 37 572 [ C 24 2 0.21 1155
o Stub > 330 ¢ 24 1 0.04 e} o ST — 4990 12x18 Krokiew Kr2 31 865 | C 24 1 0.16 88 T Toss Ko < 36 ol e oa > o7 935
] Stup 2 230 | C 24 1 0.04 o 500 0 12x18 Krokiew Kr2 32 695 | C 24 1 0.13 71.5 : - -
— 68| 0 10x18 Krokiew Krl 35 368 | C 24 2 0.13 71.5
3] Stup 2 230 | C 24 1 0.04 501| 0 12x18 Krokiew Kr2 33 485 | C 24 1 0.09 49.5 T Krokiow <1 = oo T e 24 5 K] =
o Stup 2 2301 C 2% 1 0.04 o 502 | O 12x18 Krokiew Kr2 34 310 | C 24 1 0.06 33 ~oTo 108 Krokiow P %o AT 5 .05 33
3] Stup 2 230 C 24 1 0.04 Il o 503 | O 12x18 Krokiew Kr2 35 95| C 24 1 0.02 11 ! -
0 s0]c 2 (X S 71|10 10x18 Krokiew Krl 40 105] C 24 2 0.04 22
s up SR o — SUMA : 63.34 34837 72 |0 10x18 Krokiew Kr1 41 184 | C 24 1 0.03 16.5
0 3:: S0 ¢ 2 0.01 730 10x18 Krokiew Krl 22 740 | C 24 3 0.4 220
s : 740 10x18 Krokiew Krl 42 740 | C 24 3 0.4 220
g ::up :: g 133 gg: : g-gg ! 8 75| 0 10x18 Krokiew Kr1 43 584 | C 24 1 0.11 60.5
0 Stup ] 3 1301 ¢ 24 1 2.02 Wn_ - 760 10x18 Krokiew Krl 44 481] C 24 1 0.09 49.5
o Stup St 3 1301¢C 24 ! 0.0z 77| 0 10x18 Krokiew Krl 45 481| C 24 1 0.09 49.5
0 up 3 01¢c 2 0:0 — o s 780 10x18 Krokiew Krl 46 276 | C 24 1 0.05 275
0 up 3 Solc 2 2.0 TeTR0sR= ﬁ-z 8 790 10x18 Krokiew Krl 47 173 ] C 24 1 0.03 16.5
0 up 3 301¢ 2 0:0 < 80| 0 10x18 Krokiew Krl 28 64 C 24 1 0.01 5.5
O Slup st 2 150fc 24 ! 0.02 81|00 10x18 Krokiew Krl 49 754 | C 24 3 0.41 225.5
o Stup St 3 1301¢C 24 ! 0.0z —— 82| 0 10x18 Krokiew Krl 49 754 | C 24 3 0.41 225.5
O Stup st 2 1300 24 ! 0.02 0 5o Lt S 0 ot 83| 0 10x18 Krokiew Krl 49 754 | C 24 3 0.41 225.5
g S'up = 3 R ! .02 L7 g/ Lizdoszr=t 84 [0 10x18 Krokiew Kr1 49 754 C 24 3 0.41 225.5
0 up 3 01¢c 2 0.02 850 10x18 Krokiew Krl 50 782 | C 24 1 0.14 77
0 up 2 solc 2 0.02 86| 0 10x18 Krokiew Krl 51 895 | C 24 1 0.16 88
0 up 3 301¢ 2 002 o 870 10x18 Krokiew Krl 52 986 | C 24 1 0.18 99
0 up .03 0 1008 Kk 49 o 88 |0 10x18 Krokiew Kr1 53 1088 | C 24 1 0.2 110
] Stup St 4 190 | C 24 1 0.03 LeTASZT=3 — ;
0 L St 4 1901¢C 24 ! 003 89| 0 10x18 Krokiew Krl 54 1190 | C 24 1 0.21 1155
o Stup St 4 lsolc 2 ! 003 £ 3 90| 0 10x18 Krokiew Krl 55 1220 | C 24 1 0.22 121
o Stup St + 190]C 24 ! 008 Ligfe s 0 1aas 3 o 91|00 10x18 Krokiew Krl 56 1157 | C 24 1 0.21 115.5
0 up 4 olc 2 003 o 92 [0 10x18 Krokiew Krl 57 957 | C 24 1 0.17 93.5
o :i : olc 2 0.0: — 93| 0 10x18 Krokiew Krl 58 756 | C 24 1 0.14 77
D Shp ST T Y — 003 e 7 s oaran? < T, o C % [T i Keoilow S 1 — 5,08 =
g S'up = 4 AR : 0-03 1 . L=20855T=1 // Le12esar=1 o 96 [0 10x18 Krokiew Kr1 61 153 | C 24 1 0.03 16.5
o Stup St 4 lsolc 2 ! 003 16 } — } 970 10x18 Krokiew Krl 62 862 | C 24 1 0.16 88
o Stup St + 190]C 24 ! 008 18. B = B 98 | 0 _10x18 Krokiew Krl 63 107 | C 24 1 0.02 11
0 up [ o[ C 24 0.03 y e o 99| 0 10x18 Krokiew K| 64 210 C 24 1 0.04 22
0 .03 S 100 |0 _10x18 Krokiew Krl 65 312| C 24 1 0.06 33
s up : g g : g-gf 100 4 100 100 94.5 | 105.54 100 100 11 | 101] 0 _10x18 Krokiew Krl 66 415[C 24 1 0.07 38.5
O Slup st : 190 24 ! 0.03 | 102 |0 _10x18 Krokiew Krl 67 512 | C 24 1 0.09 495
o Stup St 3 1901¢C 24 ! 003 o 2 110 O 1524 ko 9 103 |0 10x18 Krokiew Krl 68 615] C 24 1 0.11 60.5
s S'UP > + 10c 2 . 008 S L=190ST1=1 Lotasesar-1 104 [0 10x18 Krokiew Kri 67 512 | C 24 1 0.09 49.5
o Stup St + 190]C 24 ! 008 = S 1050 _10x18 Krokiew Krl 66 415| C 24 1 0.07 385
0 up : solc 2 0.0: N S = 106 [ O 10x18 Krokiew Krl 65 312] C 24 1 0.06 33
0 up D solc 2 0.03 con w1 o Tk 21 107 |0 _10x18 Krokiew Krl 64 210 | C 24 1 0.04 22
0 up 3 301¢ 2 0.02 8 e = = 108 | O 10x18 Krokiew Krl 63 107]C 24 1 0.02 1
O Slup 2 150fc 24 ! 0.02 e 109 | O 12x18 Krokiew Kr2 1 107 | C 24 1 0.02 11
o Stup 3 1301¢C 24 ! 0.0z N o 110 |0 12x18 Krokiew Kr2 2 229] C 24 1 0.04 22
o Stup 3 130lc 2 ! 0:02 e < 111]0 12x18 Krokiew Kr2 3 330 | C 24 1 0.06 33
o Stup 3 130]C 24 ! 002 = _ 49 X £ T O 112 [0 12x18 Krokiew Kr2 4 437 | C 24 1 0.08 44
o Stup S sl ! 003 = - 1130 12x18 Krokiew Kr2 5 542 | C 24 1 0.1 55
up X N | — 7 i 1140 12x18 Krokiew Kr2 6 629] C 24 3 0.34 187
0 Stup s 1551 C 24 ! o8 M /Wm."L | T ey 115 |0 12x18 Krokiew Kr2 7 743 C 24 1 0.13 715
O Slup 3 1551¢ 2¢ ! .03 o g s 116 | O 12x18 Krokiew Kr2 8 845 | C 24 1 0.15 82.5
o Stup 3 1301 ¢ 24 ] 0.0z = 4 117 |0 12x18 Krokiew Kr2 9 905 | C 24 1 0.16 88
o Stup 8 215 1C 24 2 0.08 . o 118 | 0 12x18 Krokiew Kr2 10 795 | C 24 1 0.14 77
o Stup Z 150]C 24 ! 008 = S 1 ik < 119| 0 12x18 Krokiew Kr2 11 700 | C 24 1 0.13 715
o Stup Z 1solc 2 ! 003 o Liae s Dl kot 18 S 120 |0 12x18 Krokiew Kr2 12 600] C 24 1 0.11 60.5
up . o 0 1808 22 — 121] 0 12x18 Krokiew Kr2 13 500 | C 24 1 0.09 495
g ::up ; 1:3 gg: : g-gg — e i 1220 12x18 Krokiew Kr2 12 400 [ C 24 1 0.07 38.5
g Slup z 1501¢ 24 ! 9.03 = : - s sp 10 Teio05Ti= ] 123 |0 12x18 Krokiew Kr2 14 837 | C 24 2 0.3 165
2 scﬂp s 155024 ! 9.03 o e o 1aie w1 i e R 124 [0 12x18 Krokiew Kr2 15 733 C 24 2 0.26 143
o Stup 8 leslc 2 ! 003 S 0 = L 125 |0 12x18 Krokiew Kr2 16 630] C 24 2 0.23 126.5
up . — = B 126 [0 12x18 Krokiew Kr2 17 526 | C 24 2 0.19 104.5
g :::i : 1:2 gg: : g.gg - / I 16 Ie} 127 |0 12x18 Krokiew Kr2 18 430 | C 24 2 0.15 82.5
- i = 0 18 116 > 28| 0 K 19 320 | C_24 0.1 66
] Stup 9 170 | C 24 1 0.03 S =il 00 |1 100 Krokow 9 w > 50T T2x Kok = 20 213 ¢ 24 008 44
3] Stup 9 170 C 24 1 0.03 - 1 = :
o e IR 1 008 ~— 300 X rokiew Kr: 21 113 | C 24 0.04 22
= S'UP R : 0-04 = 7 [ s 10 0o 131| 0 12x18 Krokiew Kr2 9 1261| C 24 1 0.23 126.5
o Stup 2201¢ 24 1 0.0¢ o T 3 1218 _Kiotow L isas s 22 o 132 |0 12x18 Krokiew Kr2 10 1368 | C 24 1 0.25 137.5
o S'up 2201 24 ! 9.04 S L1081 o 1ods =733 sti-2 » 133 [0 _12x18 Krokiew Kr2 11 1461 C 24 1 0.26 143
o Stup 2201 ¢ 24 ! 004 = LeRaszre BN ——— 1340 12x18 Krokiew Kr2 12 1565 | C 24 1 0.28 154
o S'UP e 1 o or N ||| s e 2# n 35|10 12x rokiew Kr: 3 1658 | C 24 2 0. 330
o 5'3:: SaoTc o4 : 0-04 o 01208 Krokiow 3 (o)) 3610 X Krokiew Kr: 22 1080 | C 24 1 0.1 104.5
.| L=837 SZT=2 N0
o o ST 1 006 S 0 108 _Kekiew 51 01820 Plow O (op) . 3710 X rokiew Kr: 23 872 | C 24 1 0.1 88
o L 3201 ¢ 24 ! 006 & L D o | 138 [0 12x18 Krokiew Kr2 24 563 | C 24 1 0.12 66
= S'UP ooz . .08 N 23 139 [0 12x18 Krokiew Kr2. 25 456 | C 24 1 0.08 44
o Stup 3201 ¢ 24 ! 0.06 o s 3 5t Sho _n;ﬂ--7 =018 54 © 140 [0 12x18 Krokiew Kr2 26 250 | C 24 1 0.05 275
o Stup 3201c 24 ! 008 8 teTsoErT=] [0Szt / o 141] 0 10x18 Wymian W 1 388 | C 24 2 0.28 154
up A c = u‘gr_"“""f’ 8 24 42 [0 10x Wyrmian v 2 95| C 24 4 0.07 38.5
] Stup_ 310/ C 24 1 0.06 E R 16 430 10x Wymian v 1 388 | C 24 4 0.28 154
] Stud 425 C 24 1 0.08 - X 0 1248 0 1ads 10 L=t s 32 0 \
O 148 Krokiew 4410 10x mian v 2 95| C 24 4 0.07 38.5
] Stu 500 | C 24 2 0.18 o D66 e | Leie 0 1818 13 LSt = Erahis i
0 St S00] ¢ 24 2 0:18 =] P Il 0 tecs_s > 1450 10x18 Wymian W 3 288 | C 24 2 0.1 55
up A & D108 kot 5 / i 1818 2 ol 6N 146 [0 10x18 Wymian W 4 146 | C 24 2 0.05 27.5
N = o _Fotei T o 122 0 12q8 w29 _ 147 [0 10x18 Wymian W 1 388 C 24 2 0.14 77
69 1100 1100 L 100 1100 100 1.100 100 100 90 Lei50zi=4 Ye: o oS e, ot 1 S 148 |0 10x18 Wymian W 2 95| C 24 2 0.03 6.5
|| Let510STim1 — 1490 10x Wymian v 5 250 | C_24 2 0.0 49.5
o 1008t 54 } ] 25 _ 150 [0 _10x Wymian v 2 95 [ C 24 1 0.02 11
= g 17 01520 Pam © 2T 0 18, 6 Na o8 oo 128 o 151] 0 _10x Wymian v 6 229] C 24 1 0.04 22
_ — e 7 0 1820 L~4B0SZi=1 o 128 /=8 = L=t 0128t 12 0 BE . 152 | 0 10x18 Wymian W 7 188 | C 24 2 0.07 38.5
2 = e — mﬂ/ﬁ_ =150 o, X 153 [0 10x18 Wymian W 7 188 C 24 1 0.03 16.5
) A~ — ) i d 154 | 0 _10x18 Wymian W 8 230 | C 24 2 0.08 44
7o) ] ) e @K nond|| o 155 | 0 10x18 Wymian W S 153 ] C 24 1 0.03 16.5
o ol x = ; . 2 560 10x Wymian v 10 20| C 24 1 0.03 6.5
0 0 10018 | kekion 3 2 10et8 9 0 tods LRSI 56 0.belt_ e A K 570 10x Wymian v 7 43| C 24 1 0.03 6.5
S ? 5 = 5 L iote_Koton B 58 |0 10x Wymian v 7 43| C 24 2 0.05 27.5
fos) e 159 | O_10x18 Wymian W 8 230 | C 24 2 0.08 44
= 3 T 0 © 160 |0 12x18 Wymian W1 1 194] C 24 2 0.07 38.5
o) LU Linit_s 57 f >» 161] 0 15%x24 Murlata M 1 2322 | C 24 1 0.42 231
\») /ﬁfl u“_";r_"“"' ~ 162 | O 15x24 Murtata M 2 1438 | C 24 1 0.26 143
(o2} o aats oy o Te) 3| 0 15x24 Murtata M 3 0| C 24 0.75 412.5
0 14x18 _ Kroldew nor- . M
> = o o 108 o o 4 . 5x24 Murtata M 4 213 | C 24 0.04 22
2 1 0 rede ton tocd I S 5| 0 _15x24 Murlata M 5 1220 C 24 0.22 121
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